








Question No. 11

he solution set of










Question No. 10

The equation x? + 225 = 0 has

O 2 real solutions
© 2 imaginary solutions
O 1 real solution

() NoO solution
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Question No. 11

The solutionset of 5x° —35x =0

© {0,571}






















Question No. 7

Solve A = P(1 + nr) forr




























Question No, 25

The equation-2x2 4 13X~ 15 =0 has
Wo irational roots

one repeated root
WO nonreal ¢ omplex roots

we rational roots


































Ouomon No, 13

Find gy, Producy o»-

»






Quosnon No, 24

Simplify Nd wrjte



















